Mensheviks and Bolsheviks gap fill activity

Write the following sentences out in the correct boxes:

A. No co-operation with parties

Economism dismissed as bourgeois

Aim to turn workers into revolutionaries

B. Authority to be exercised by Central Committee – i.e. by ‘democratic centralism’.

C. Alliance with other revolutionary and liberal parties

Support for TU’s and improved conditions for workers

D. A mass organisation with open membership

You should be able to complete the remaining boxes on your own!!

Mensheviks and Bolsheviks gap fill activity

Write the following sentences out in the correct boxes:

E. No co-operation with parties

Economism dismissed as bourgeois

Aim to turn workers into revolutionaries

F. Authority to be exercised by Central Committee – i.e. by ‘democratic centralism’.

G. Alliance with other revolutionary and liberal parties

Support for TU’s and improved conditions for workers

H. A mass organisation with open membership

You should be able to complete the remaining boxes on your own!!

